Resolver las siguientes ecuaciones de 1 % grado con denominadores
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y comprobar la solucién:

(Soluc: x=9)

(Soluc: x=17/9)

(Soluc: x=5)

(Soluc: x=3/2)

(Soluc: x=7)

(Soluc: x=15)

(Soluc: x=2/9)

(Soluc: x=2)

(Soluc: Se trata de una identidad)

(Soluc: x=4)

(Soluc: x=-10)

(Soluc: x=53/155)

(Soluc: x=-2)

(Soluc: Se trata de una identidad)

(Soluc: x=-8)

(Soluc: x=20)

(Soluc: x=0)

(Soluc: x=-1/2)



s) 5x—3[3—5):3—3
4
t) 5(3—3_Xj+1:2x—2(x—1)
3 5

u) i(z-z}ié(&-z}
23 2) 9 22 3

V) Q_S(ngzg_z(l_i)
3 12 4 6

w) 3(%—xj-4:2x—3(1—%)

(Soluc: x=8/3)

(Soluc: x=3)

(Soluc: x=-27)





